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2A-F3H-H2A(3) - MY - BES Of] Ak I & Hl w&z2

A3 A ZH 45,976,966 45,996, 791 A 19,825
= 25,989,000 25,604,000 385,000
s 6,680,000 6,680,000 0
< 13,307,966 13,712,791 A 404,825
2dxel = 45,189,617 45,195,002 AN5,385
= 25,989,000 25,604,000 385,000
= 6,680,000 6,680,000 0
< 12,520,617 12,911,002 A 390,385
M HZH 43 XA 45,189,617 45,195,002 A5,385
= 25,989,000 25,604,000 385,000
= 6,680,000 6,680,000 0
= 12,520,617 12,911,002 A 390,385
M EIH 8 IS 568,925 581,425 A 12,500
201 L2l 5,800 6,300 A 500
01 At &t 2| bl 5,800 6,300 A 500
OMIABINEH 2 5,800 6,300 A500
202 4 HI 3,525 5,525 A2,000
01 = LH 4 B 3,525 5,525 A2,000
OMIIBZN =4 3,525 5,525 A 2,000
307 2I2t0l A 529,600 539,600 A 10,000
02 IZHE M AHEE 529,600 539,600 A 10,000
OAMIIHZH F==2tI|1E St0tY A} 13,000 23,000 210,000
2T AMIIRBH S OHA 15,400 300,000 A 284,600
201 L2l 15,400 300,000 A 284,600
03 #HAL2Z bl 15,400 300,000 A 284,600
OM1a 23S MIABZHM &3 N 15,400 300,000 A 284,600
MEEIIE 54 131,750 133,250 A 1,500
202 4 HI 2,750 4,250 A 1,500
01 = LH 4 B 2,750 4,250 A 1,500
OAgI®EIIY &4 2,750 4,250 21,500
o228 s4 171,600 173,250 A 1,650
202 04 HI 2,600 4,250 A 1,650
01 S LHAYI 2,600 4,250 A 1,650
oIy 88 2 ALZ2e 2,600 4,250 A 1,650
gsXe g43% NA 2,400 5,300 A 2,900
201 L2l 2,000 3,600 A 1,600
01 At 22|l 2,000 3,600 21,600
Oglstg dEXd & 88 2,000 3,600 A 1,600
202 oidl 400 1,700 A 1,300
01 = LH 4 B 400 1,700 A 1,300
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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Ogsx¢g Jlgt 2= 400 1,700 A 1,300
NEZH 43t J|gt2= 7,825,242 7,912,477 N87,235
202 044l 7,000 12,750 A5,750
01 SLHOYI 7,000 12,750 A5,750
odEd R = 7,000 12,750 A5,750
207 510K £ Hl 0 80,000 80,000
01 A7 39l 0 80,000 280,000
oZdEd ZHal 24 0 80,000 A 80,000
301 LetEH S 3,742 5,227 A 1,485
0B MBI ERRIBNS 3,742 5,227 AN 1,485
OANI=ERREBAS (1Y) 3,742 5,227 A 1,485
NAAZAEA AT A(FIXHA)(21) 385,000 0 385,000
= 385,000 0 385,000
308 XXM SOIA 385,000 0 385,000
= 385,000 0 385,000
01 AXHHBISEES 385,000 0 385,000
OXAAMSAZTAH LAHIZ(FIXE) 385,000 0 385,000
= 385,000 0 385,000
2T 4=y & 696,776 706,776 A 10,000
PNRS:PNDN SR gy 696,776 706,776 A 10,000
dEA DtsSsH 2SOl 96,776 106,776 A 10,000
201 LEt2A | 19,000 23,000 A 4,000
01 At 2t2l ] 14,000 18,000 A 4,000
ontsssHAY 2EXE S 14,000 18,000 A4,000
202 O Hl 1,550 2,550 A 1,000
01 = LH 4 Hi 1,550 2,550 A 1,000
Olt=2SHAY gRF2 1,550 2,550 A 1,000
308 XXM SO0 A 76,226 81,226 A5,000
01 HIXNHHBNEES 76,226 81,226 A5,000
olt=ssHASH XI& 76,226 81,226 A5,000
HY2LZH (MBI FZH ) 28,471 34,679 26,208
Jl=&dl 28,471 34,679 A 6,208
FA2Y JI23H 28,471 34,679 N6,208
201 L4l 19,871 22,871 A 3,000
01 AFR 22l 19,871 22,871 A 3,000
ORAN2Y AtR22lt| 19,871 22,871 A 3,000
202 4l 5,000 8,208 A 3,208
01 S LHOIYI 5,000 8,208 A 3,208
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HH: HHSAAY (ASIHAHD)
el J|=22Y EERE=E))
C A .2 () - HEMNY - BHES ;] Patgel plEske Hons2
| | | PEREEIERRE] 5,000 8,208 A3,208
W E=(ASI = HH D) 62,102 60,334 1,768
BEE 62,102 60,334 1,768
AFBIED|IY, OIE2J|98e 2 DEX2 uie 62,102 60,334 1,768
802 BHEt 2| Ef 62,102 60,334 1,768
01 2nEx2es2 62,102 60,334 1,768
©'199 AFBIEI|Y SA (MYHLH-XS=E5)
(2o 1,067 0 1,067
©'19% RIALE B4 JIBFxA 701 0 701






